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(5) àH$me bhar
1) àH$memMo ñdén  d d¡{eîQ>ço
2) àH$memMm òmoV - àH$me dU©nQ
3) àH$memMo  JwUY‘©
4) àH$meH$s¶ CnH$aUo - à{V‘m, Amago, q^Jo
5) Ñï>rXmof d d¡få¶

1) àH$memMo ñdén Am{U d¡{eîQ>ço
1) àH$memMm doJ  ............ AgVmo.

1) 3 × 108  ‘rQ>a à{VgoH§$X 2) 3 × 108 g|{Q>‘rQ>a à{VgoH§$X
3) 3 × 108  {H$cmo‘rQ>a à{VgoH§$X 4) 3 × 108 B§M à{VgoH§$X

1) Speed of light is .........

1) 3 x 105 m/s 2) 3 x 108 cm/s 3) 3 x 108 km/s 4) 3 x 108 inch/s

2) àH$memMo EH$H$ ghgm ............ ‘Ü¶o {Xco OmVo.
1) ‘rQ>a 2) g|{Q>‘rQ>a 3) {‘{c‘rQ>a 4) Z°Zmo Am{U ‘m¶H«$mo‘rQ>a

2) Light unit is generally expressed in ..........

1) Meter 2) Centimeter 3) Millimetre 4) Nano - Micrometer

3) àH$me‘` àdmhmMo EH$H$ ........ Amho.
1) do~a 2) A±{nAa 3) Hw$bm°å~ 4) bw‘oZ

3) The Unit of luminous flux is .........

1) Weber 2) Ampere 3) Coulomb 4) Lumens

4) àH$me Va§J ‘w»¶V: ........... ñdê$nmV AgVmV.
1) Mw§~H$s¶ Va§J 2) {dÚwV Va§J 3) {dÚwV M§§w~H$s¶ Va§J 4) darcn¡H$s EH$hr Zmhr

4) Light is generally in the form of :

1) Magnetic Waves 2) Electrical Waves

3) Electromagnetic Waves 4) None of the above

5) namd{V©V hmoUmè`m gm¡a D$O}Mo à‘mU qH$dm òUm`m© gm¡a {H$aUmoËgJm©Mo namdV©Z JwUm§H$ ................ åhUVmV.
1) gỳ ©{H$aU 2) Aë~oS>mo 3) AndV©H$ {ZX}em§H$ 4) darbn¡H$s Zmhr

5) The proportion of incident solar energy that is reflected or the reflection coefficient for incoming

solar radiation is called ................

1) Sunrays 2) Albedo 3) Refractive index 4) None of the above

6) àH$memMo EH$H$ ghgm ............ ‘Ü¶o {Xco OmVo.
1) ‘rQ>a 2) g|{Q>‘rQ>a 3) {‘{c‘rQ>a 4) Z°Zmo Am{U ‘m¶H«$mo‘rQ>a

6) Light unit is generally expressed in ..........

1) Meter 2) Centimeter 3) Millimetre 4) Nano - Micrometer
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7) àH$memÀ¶m dU© nQ>m‘Ü¶o H$moUË¶m àH$memMm g‘mdoe AgVmo ?
1) Ñí¶ àH$me d A{VZrc àH$me 2) AÑí¶ àH$me Am{U Ñí¶ àH$me
3) Adaº$ {H$aUm§Mm àH$me Am{U Ñí¶ àH$me 4) darcn¡H$s gd©M

7) Optical spectrum consist of ..........

1) Visible light and ultraviolet light 2) Invisible light and visible light

3) Infrared light and visible light 4) All of the above

2) àH$memMm òmoV - àH$me dU©nQ
1) 1 bŠg g‘mZ Amho ...........

1) 0.1 bw‘oZ/Mm¡. ‘rQ>a 2) 1 bw‘oZ/Mm¡. ‘rQ>a 3) 1 bw‘oZ/Mm¡. go‘r. 4) 1 bw‘oZ/Mm¡. {‘‘r
1) 1 lux is equal to ...........

1) 0.1 lumen/sq. meter 2) 1 lumen/sq. meter

3) 1 lumen/sq. cm. 4) 1 lumen/sq. mm.

2) EbB©S>r bmB©Q>Mo Am ẁî` ............ n ª̀V Amho.
1) 1,000 Vmg 2) 3,000 Vmg 3) 4,000 Vmg 4) 1,00,000 Vmg

2) LED light life span is upto .............

1) 1,000 hours 2) 3,000 hours 3) 4,000 hours 4) 1,00,000 hours

3) BÝH°$ÝS>oÝg|Q> {Xdo gmYmaUnUo ............ À`m nm°da ’°$ŠQ>ada MmbVmV.
1) 0.6 b°qJJ 2) 0.707 b°qJJ 3) 0.8 AJ«JÊ` 4) ¶w{ZQ>r

3) Incandescent lamps normally operates at a power factor of .............

1) 0.6 lagging 2) 0.707 lagging 3) 0.8 leading 4) unity

4) BZ°ÝS>oÝg|Q> {Xì`mVrb ìh°Š ỳ‘ ........ À`m H«$‘mZo AgVmo.
1) 10-2 {‘‘r He. 2) 10-4 {‘‘r EMOr 3) 10-6 {‘‘r EMOr. 4) 10-8 {‘‘r EMOr.

4) The vacuum inside an incandescent lamp is of the order of .........

1) 10-2 mm He. 2) 10-4mm Hg 3) 10-6 mm Hg. 4) 10-8mm Hg.

5) ‘erqZJ, J«mB§qS>J nm°{bqeJ BË`mXr Cƒ AMyH$ H$m‘mgmR>r Amdûm`H$ àXrnZ nmVir gw‘mao ......... bŠg Amho.
1) 50 - 100 2) 100 - 200 3) 200 ~ 400 4) 1000 ~ 2000

5) Illumination level required for high precision work like machining, grinding polishing etc. is

around ......... lux.

1) 50 — 100 2) 100 — 200 3) 200 ~ 400 4) 1000 ~ 2000

6) ‘hmamï´> ’°ŠQ>arO {Z`‘ 1963 Zwgma, n°goOdo, H$m°[aS>m°a Am{U nm`è`m§‘Ü ò àH$memMr {H$‘mZ Vrd«Vm .......... bŠg
Agmdr.
1) 10 2) 50 3) 90 4) 160

6) As per Maharashtra Factories Rules 1963, the minimum intensity of illumination in passageways,

corridors and stairways shall be ............ Lux.

1) 10 2) 50 3) 90 4) 160
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7) bmB©qQ>J {gñQ>r‘‘Ü ò ñWm{nV bmoS> B{’$H°$grMo EH$H$ H$m` Amho?
1) d°Q²g à{V bw‘oZ (W/lm)

2) bw‘oZ à{V g{H©$Q> d°Q>(lm/W)

3) d°Q²g à{V Mm¡ag ‘rQ>a à{V 100 bŠg (W/m2/100 lux)

4) bŠg à{V d°Q> à{V Mm¡ag ‘rQ>a (bŠg/S>ãë ỳ/E‘2)
7) What is the unit of installed load efficacy in a lighting system ?

1) Watts per lumen (W/lm)

2) Lumens per circuit watt (lm/W)

3) Watts per square metre per 100 lux (W/m2/100 lux)

4) Lux per watt per square metre (lux/W/m2)

8) n¥ð>^mJmnmgyZ 'd' A§Vamda Agboë`m àH$memÀ`m ómoVm‘wio n¥ð>^mJmdarb àXrnZ ........ Ago ~XbVo.
1) 1/d2 2) 1/d 3) d 4) d2

8) The illumination at a surface due to a source of light placed at a distance ‘d’ from the surface

varies as ........

1) 1/d2 2) 1/d 3) d 4) d2

9) à{V Mm¡ag ‘rQ>a EH$ bw‘oZMo ‘yë¶ ........... BVHo$ AgVo.
1) EH$ bŠg 2) EH$ ‘oU~Îmr 3) EH$ ’y$Q> ‘oU~Îmr 4) EH$ bw‘oZ ‘rQ>a

9) One lumen per square meter is same as .............

1) One lux 2) One candle 3) One foot candle 4) One lumen meter

10) Imcr àH$mem_Yrc a§Jm§Mr `mXr {Xcr Amho. Ë`m§Mr _m§S>Ur cha-cm§~rÀ`m MT>Ë`m H«$_mZo H$am.
A - {Zim, B - Vm§~S>m, C - {ndim, D - {hadm
1) B, C, A, D 2) A, D, C, B 3) C, B, D, A 4) D, B, C, A

10) A list of colours of light is given below. Arrange them in increasing order of wavelengths.

A - Blue, B - Red, C - Yellow, D - Green

1) B, C, A, D 2) A, D, C, B 3) C, B, D, A 4) D, B, C, A

11) nwT>rc H$moUVo {dYmZ ¶mo½¶ Amho?
a) cmc a§JmMm {dMcZ H$moZ gdm©{YH$ AgVmo.
b) Om§̂ ù¶m a§JmÀ¶m àH$memMr Va§J cm§~r gdm©{YH$ AgVo.
n¶m©¶r CÎmao …
1) Hoo$di (a) ¶mo½¶ Amho 2) Ho$di (b) ¶mo½¶ Amho
3) (a) d (b) XmoÝhr ¶mo½¶ AmhoV 4) (a) d (b) XmoÝhr ZmhrV

11) Which of the following statements is/are correct?

a) The angle of deviation is maximum for the red light.

b) Wave length of violet light is maximum.

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) Neither (a) nor (b) is correct
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12) {’$H$À¶m àgmamMm n{hbm {Z`‘ `mÀ`mer g§~§{YV Amho -
1) àgma àdmh Am{U {S>â ỳ{gpìhQ>r
2) àgma àdmh, àgma Am{U EH$mJ«Vm
3) {S>â ỳOZ âbŠg, {S>â ỳ{gpìhQ>r Am{U pñWVrÀ`m g§X^m©V EH$mJ«Vm
4) darbn¡H$s H$mhrhr Zmhr

12) Fick’s first law of diffusion is related with -

1) diffusion flux and diffusivity

2) diffusion flux, diffusivity and concentration

3) diffusion flux, diffusivity and concentration with respect to position

4) None of the above

13) ~moJÚmÀ`m àH$memer g§~§{YV Imbrb {dYmZo {dMmamV ¿`m:
A) {Xì`m§Mo A§Va àH$me òmoVmÀ`m AmH$mamda Adb§~yZ Agob.
~) {Xì`m§Mo A§Va ~moJÚmÀ`m n[a‘mUm§da Adb§~yZ Agob.
H$)  OmñV d°Q>oOMo H$‘r {Xdo AgUo Bï> Amho.
S>) bhmZ d°Q>oOMo A{YH$ {Xdo AgUo Bï> Amho.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) (A) Am{U (~) 2) (A), (H$) Am{U (S>)
3) (A), (~) Am{U (S>) 4) (~) Am{U (H$)

13) Consider the following statements related to tunnel lighting :

a) The spacing of lights will depend on size of light source.

b) The spacing of lights will depend on tunnel dimensions.

c) It is desirable to have few lights of more wattage.

d) It is desirable to have more lights of small wattage.

Which of the above statements are correct ?

1) (a) and (b) 2) (a), (c) and (d) 3) (a), (b) and (d) 4) (b) and (c)

14) añË`mdarb àH$memgmR>r Imbrbn¡H$s H$moUVm {Xdm A{YH$ `mo½` Amho?
1) h°bmoOZ {Xdm 2) Cƒ Xm~mMm nmam {Xdm
3) Cƒ Xm~ gmo{S>`‘ {Xdm 4) ‘oQ>b h°bmBS> {Xdm

14) Which of the following lamps is more suitable for street lighting ?

1) Halogen lamp 2) High pressure mercury lamp

3) High pressure sodium lamp 4) Metal halide lamp

15) Imbrbn¡H$s H$moUË`m {Xì`mMo gamgar Am ẁî` gdm©{YH$ Amho?
1) gmo{S>`‘ ìhona {Xdm 2) nmam dm’o$Mm {Xdm 3) BÝH°$ÝS>oÝg|Q> {Xdm 4) âbmoamog|Q> {Xdm

15) Average life of which of the following lamp is highest ?

1) Sodium vapour lamp 2) Mercury vapour lamp

3) Incandescent lamp 4) Fluorescent lamp

16) H$moUVo {Xdo ho YwŠ`m‘Ü ò OmñV ̀ mo½` AmhoV H$maU Ë`mÛmao {Z{‘©V àH$me YwŠ`m‘Ü ò A{YH$ Mm§Jë`m àH$mao Kwgw eH$Vmo.
1) nmam dm’o$Mo {Xdo 2) gmo{S>`‘ dm’o$Mo {Xdo 3) YmVyMo h°{bS> {Xdo 4) M‘H$Umao {Xdo

16) ......... are particularly suitable in fog as their light can penetrate the fog better.

1) Mercury vapour lamps 2) Sodium vapour lamps

3) Metal halid lamps 4) Glow lamps
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17) âbyamog§Q> Q>çy~À`m nwadR>çm‘Ü ò H°$no{gQ>aMo H$m ©̀ àm‘w»`mZo ...... Amho.
1) AmhoV pñWa H$aUo 2) àma§̂  H$a§Q> H$‘r H$aUo
3) nwadR>m nm°da ’°ŠQ>a gwYmaUo 4) AmdmO H$‘r H$aUo

17) The function of capacitor across the supply to the fluorescent tube is primarily to .......

1) Stabilize the are 2) Reduce the starting current

3) Improve the supply power factor 4) Reduce the noise

18) Imbrbn¡H$s H$moUË`m {Xì`m‘Ü ò B{¾Q>a dmnabm OmVmo?
1) {’$bm‘|Q> {Xdo 2) âbmoamog|Q> {Xdo
3) gmo{S>`‘ ìhona {Xdo 4) darbn¡H$s H$mhrhr Zmhr

18) Ignitor is used in which of the following lamps ?

1) Filament lamps 2) Fluorescent lamps

3) Sodium vapour lamps 4) None of the above

19) âbmoamog|Q> {Xì`m§À`m PJ‘JmQ>mMm à^md ........ À¶m AdñWoV A{YH$ ñnï> hmoVmo.
1) H$‘r dma§dmaVo 2) Cƒ dma§dmaVo 3) bmoAa ìhmoëQ>oO 4) OmñV ìhmoëQ>oO

19) The flicker effect of fluorescent lamps is more pronounced at ..........

1) Lower frequencies 2) Higher frequencies

3) Lower voltages 4) Higher voltages

20) {ZH$mob {àP‘Ûmao àgm[aV hmoUmam àH$me Amho:
1) AY«wdrH¥$V 2) g‘Vb Y«wdrH¥$V 3) JmobmH$ma Y«wdrH¥$V 4) b§~dVw©imH$ma Y«wdrH¥$V

20) Light transmitted by nichol prism is :

1) unpolarized 2) plane polarized 3) circularly polarized 4) elliptically polarized

3) àH$memMo  JwUY‘©
1) Oa àH$me n{hë¶m ‘mÜ¶‘mVyZ 2 × 108 ms-1 doJmZo OmVmZm Xþgè¶m ‘mÜ¶‘mV Ë¶mMm doJ 1.25 × 108 ms-1  hmoV Agob

Va Xþgè¶m ‘mÜ¶‘mMm n{hë¶m ‘mÜ¶‘mÀ¶m g§X^m©Vrb AndV©Zm§H$ H$mT>m.
1) 2.5 2) 1.33 3) 1.6 4) 0.625

1) Find the refractive index of the second medium with respect to the first medium, if light moves

through the first medium with velocity 2 × 108 ms-1, which changes to 1.25 × 108 ms-1 in the

second medium.

1) 2.5 2) 1.33 3) 1.6 4) 0.625

2) EH$‘oH$m§nmgyZ 1 {‘{b‘rQ>a A§Vamda Agbobr XmoZ g‘m§Va aoImÀN>rÐ nS>ÚmnmgyZ 1 ‘rQ>a A§Vamda R>odboë¶m AmhoV.
Ë¶m§À¶mda 500 Z°Zmo‘rQ>a Va§Jbm§~rMr ebmH$m gmoS>ë¶mZ§Va nS>Úmda ì¶{VH$aU n[aUm‘m‘wio V¶ma Pmboë¶m nº$s¨‘Yrb
A§Va {H$Vr?
1) 5.0 mm 2) 0.5 mm 3) 5.0 mm 4) 0.05 mm

2) Two parallel slits 1 millimetre apart are placed 1 metre away 6-om the screen. What is the fringe

separation due to interference effect, when a beam of wavelength 500 nanometres is incident on

them ?

1) 5.0 mm 2) 0.5 mm 3) 5.0 cm 4) 0.05 mm
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3) Á¶mÀ¶m àË¶oH$ n¥ð>^mJmMr dH«$Vm {ÌÁ¶m 50 go‘r Amho, Aem S>~b ~{hd©H«$ q^JmMo Zm^r¶ A§Va {H$Vr gob, Oa H$mMoMm
dH«$s^dZ Xe©H$ 1.50 Agob?
1) 100 go‘r 2) 25 go‘r 3) 50 go‘r 4) 75 go‘r

3) What is the focal length of a double convex lens for which the radius of curvature of each surface

is 50 cm and the refractive index of glass is 1.50

1) 100 cm 2) 25 cm 3) 50 cm 4) 75 cm\

4) àH$me Ooìhm EH$m ‘mÜ¶‘mVyZ Xþgè¶m ‘mÜ¶‘mV àdoe H$aVmo, Voìhm Imbrbn¡H$s àH$memÀ¶m H$moUË¶m JwUY‘m©V ~Xb hmoV
Zmhr ?
1) doJ 2) Va§Jbm§~r 3) Am¶m‘ 4) dma§dmaVm

4) When light travels from one medium to another medium, which of the following property of light

does not change ? .

1) Velocity 2) Wavelength 3) Amplitude 4) Frequency

5) ......... hm EH$ JwUY‘© Amho Omo n¥ð>^mJmÛmao namd{V©V hmoUmè`m {H$aUmoËgJm©Mm A§e {ZpíMV H$aVmo.
1) emofH$Vm 2) namdV©H$Vm 3) AndV©H$Vm 4) CËgO©Z

5) ......... is a property that determines the fraction of the incident radiation reflected by a surface.

1) Absorptivity 2) Reflectivity 3) Refractivity 4) Emissivity

6) bmobH$m‘YyZ ~mhoa nS>VmZm Imbrbn¡H$s H$moUË¶m à{H«$¶o‘wio nm§T>è¶m àH$memMo Ë¶mÀ¶m KQ>H$ a§JmV {d^mOZ hmoVo ?
1) àH$memMo namdV©Z 2) Q>moQ>b B§Q>Z©b [aâbo³eZ
3) {S>ñne©Z 4) àH$memMo AndV©Z

6) Due to which of the following process white light get separated into its constituent colors when

passing through a prism ?

1) Reflection of light 2) Total internal reflection

3) Dispersion 4) Refraction of light

7) {d{eï> nXmWm©gmR>r AndV©ZmMm {ZX}em§H$ .......... Mo JwUmoÎma Amho.
1) {Zdm©VmVrb àH$memMm doJ Vo nXmWm©Vrb àH$memMm doJ
2) nXmWm©Vrb àH$memMm doJ Vo {Zdm©VmVrb àH$memMm doJ
3) darb XmoÝhr
4) darbn¡H$s H$mhrhr Zmhr

7) The index of refraction for a particular material is the ratio of .............

1) Speed of light in vacuum to the speed of light in material

2) Speed of light in material to speed of light in vacuum

3) Both of the above

4) None of the above

8) àH$memÀ`m g§X^m©Vrc ............. KQ>Zo_wio B§ÐYZwî` {Xgy eH$Vo.
1) namdV©Z 2) AndV©Z 3) dH«$s^dZ 4) AnñH$aU

8) Rainbow can be seen because of ______ phenomenon of light.

1) Reflection 2) Refraction 3) Diffraction 4) Dispersion
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9) Imbrb {dYmZo {dMmamV ¿¶m …
a) Á¶m ‘mÜ¶‘m§Mm AndV©Z {ZX}em§H$ (RI) àH$memÀ¶m dma§dm[aVoda Adb§~yZ AgVmo. VoWo àH$memMo {d{H$arH$aU hmoVo.
b) gd© nXmW©-‘mÜ¶‘o {d{H$arH$aU H$aUmao AmhoV, ’$º$ {Zdm©V nmoH$ir {d{H$arH$aU H$aUmar Zmhr.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) (a) ’$º$ 2) (a) d (b) XmoÝhr
3) (b) ’$º$ 4) darbn¡H$s H$moUVohr Zmhr

9) Consider the following statements.

a) Dispersion of light arises where the refractive index of a medium is frequency dependant.

b) All material media are dispersive; only vacuum is nondispersive.

Which of the statement given above is/are correct ?

1) (a) only 2) (a) and (b) both

3) (b) only 4) None of the above

10) nmdgmù¶mV AmH$memV {XgUmao gw§Xa gáa§Jr B§ÐYZwî¶ Imbrbn¡H$s H$moUË¶m Z¡g{J©H$ KQ>Zm§Mm n[aUm‘ Amho?
a) AndV©Z b) AnñH$aU
c) A§VJ©V namdV©Z d) ~mø namdV©Z
Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m …
1) (a) d (b) ’$º$ 2) (a), (b) d (c) ’$º$ 3) (a), (b), (c) d (c) 4) (a), (b) d (d) ’$º$

10) The beautiful rainbow seen in the sky in rainy season is the result of which ofthe following natural

phenomenon ?

a) Refraction b) Dispersion

c) Internal Reflection d) External Reflection

Select the correct option :

1) (a) and (b) only 2) (a), (b) and (c) only   3) (a), (b), (c) and (c) 4) (a), (b) and (d) only

11) Imbrb {dYmZo {dMmamV ¿¶m …
a) àH$me {H$aUo EH$m nmaXe©H$ ‘mÜ¶‘mVyZ Xþgè¶m ‘mÜ¶‘mV OmVmZm Ë¶m§Mm ‘mJ© ~XbVmo.
b) doJdoJù¶m ‘mÜ¶‘m‘Ü¶o àH$memMm doJ doJdoJim AgVmo.
Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m …
1) {dYmZ (a) gË¶ AgyZ Ë¶mMo ¶mo½¶ ñnï>rH$aU (b) ho hmo¶.
2) {dYmZo (a) d (b) XmoÝhr gË¶ AmhoV nU (b) ho Ë¶mMo ¶mo½¶ ñnï>rH$aU Zmhr.
3) {dYmZ (a) gË¶ Amho d (b) AgË¶ Amho.
4) {dYmZo (a) d (b) XmoÝhr AgË¶ AmhoV.

11) Consider the following statements :

a) Light ray changes its direction when it passes from one transparent medium to another.

b) The velocity of light is different in different media.

Select the correct option :

1) Statement (a) is correct and (b) its correct explanation.

2) Statement (a) and (b) both are correct but (b) is not its correct explanation.

3) Statement (a) is correct but (b) is wrong.

4) Statements (a) and (b) both are wrong



‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 61

For Private Circulation Only

12) nm§T>è¶m a§JmMo àH$me {H$aU "{àP‘" ‘YyZ Joco AgVm, Ë¶mÀ¶mV g‘m{dï> AgUmè¶m a§JmÀ¶m  {H$aUm§‘Ü¶o qH$dm
Va§Jcm§~r ‘Ü¶o doJ-doJio (separated)  hmoVmV. ¶m ÑH$ M‘ËH$mamcm ...... åhUVmV.
1) àH$memMo namdV©Z 2) àH$memMo AndV©Z
3) àH$memMo AnñH$aU 4) àH$memMo {ddV©Z

12) When a ray of white light passes through a prism, it is separated into rays of constituent colours

or wavelengths. This phenomenon is called

1) Reflection of light 2) Refraction of light

3) Dispersion of light 4) Diffraction of light

13) àH$meH$s¶ V§Vy hm Imbrbn¡H$s H$moUË¶m VÎdmda AmYm[aV Amho?
A) àH$memÀ¶m namdV©ZmMo VÎdmda ~) àH$memÀ¶m AndV©ZmMo VÎdmda
H$) àH$memÀ¶m nyU© Am§V[aH$ VÎdmda S>) àH$memÀ¶m AnñH$aU VÎdmda
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ’$º$ H$ 3) ~ Am{U S> 4) ’$º$ S>

13) Optical fibre is based on which of the following principles?

a) Principle of reflection of light b) Principle of refraction of light

c) Principle of total internal reflection d) Principle of dispersion of light

Answer Options :

1) a, b and c 2) Only c 3) b and d 4) Only d

14) _¥JOi ............ _wio V`ma hmoooVo.
1) O{_ZrdaMr CîUVm d àH$memMo AndV©Z 2) àH$memMo namdV©Z
3) àH$memMo AndV©Z 4) àH$memMo {ddV©Z

14) Mirage is formed due to ..........

1) Terrestrial heating and refraction of light 2) Reflection of light

3) Refraction of light  4) Diffraction of light

15) M§Ð {j{VOmOdi AgVmZm _moR>m {XgVmo. `mMo H$maU åhUOo
1) Ñ{ï> «̂‘ 2) dmVmdaUr` AndV©Z 3) àH$memMo {d{H$aU 4) àH$memMo AnñH$aU

15) When the Moon is near the horizon, it appears big. This is due to

1) Optical illusion 2) Atmospheric refraction

3) Scattering of light 4) Dispersion of light

16) EH$m ‘mÜ¶‘mH$Sy>Z Xþgè¶m ‘mÜ¶‘mH$S>o àH$memMo dH«$ {H$aU OmV AgVmZm, Ë¶mcm ...... åhUyZ AmoiIco OmVo.
1) namdV©Z 2) AndV©Z 3) AnñH$aU 4) AngaU ({dMcZ)

16) The bending of a beam of light when it passes obliquely from one medium to another is known as

1) Reflection 2)  Refraction 3) Dispersion 4) Deviation

17) AmH$memVrc B§ÐYZwî¶ H$em‘wio V¶ma hmoVo?
1) gy¶©àH$memMo YwirH$Um‘wio ì¶{VH$aU 2) gy¶©àH$memMo nmdgmÀ¶m W|~m‘wio {ddV©Z
3) gy¶©àH$memMo nmdgmÀ¶m W|~m‘wio AnñH$aU 4) gy¶©àH$memMo YwirH$Um‘wio {dH$aU

17) Rainbow in the sky is formed due to  :

1) Interference of sunlight due to dust particles. 2) Diffraction of sunlight around raindrops.

3) Dispersion of sunlight by raindrops. 4) Scattering of sunlight due to dust particles.
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18) S>~³¶mVrc JwiJwirV dmQ>moù¶m XJS>mMo AmnU Oa {ZarjU Ho$ë¶mg Vmo AmnUmg
1) nmÊ¶m‘Ü¶o IamoIaÀ¶m Imocrnojm OmñV Imoc {Xgoc. 2) AmhoË¶mM Imocrda dmQ>oc.
3) n¥ð>^mJmOdi àË¶j Agë¶mgmaIm dmQ>oc. 4) AÑí¶ dmQ>oc.

18) If we observe a pebble in a pool, the pebble would appear to be

1) deeper in the water than it really is 2) at the same depth at which it is

3) nearer to the surface than it really is 4) invisible

19) Am°pßQ>H$c \$m`~a Imcrcn¡H$s H$moUË`m VÎdmda H$m ©̀erc Amho?
1) g§nyU© Am§V[aH$ namdV©Z 2) AndV©Z
3) {d{H$aU 4) ì`{VH$aU

19) An optical fibre works on the principle of :

1) total internal reflection 2) refraction

3) scattering 4) interference

4) àH$meH$s¶ CnH$aUo - à{V‘m, Amago, q^Jo
1) XmoZ q^JmMo Zm^r¶ A§Va ho 2 ‘rQ>a d 1 ‘rQ>a Amho, Va Ë¶m q^JmMr n[aUm‘r eº$s {H$Vr Agob ?

1) 3 S>m¶m°ßQ>a 2) 1.5 S>m¶m°ßQ>a 3) 1 S>m¶m°ßQ>a 4) 0.5 S>m¶m°ßQ>a
1) The focal lengths of two lenses are 2 m and 1 m, then the total power of a combination of these

lenses is

1) 3 D 2) 1.5 D 3) 1 D 4) 0.5 D

2) Oa EImXr dñVy 360 A§emV {Vaß¶m AgUmè¶m XmoZ g‘Vc Amaem§‘Ü¶o g‘ê$n R>odcr, Va {H$Vr à{V‘m V¶ma hmoVrc?
1) 8 2) 9 3) 10 4) 11

2) If an object is placed symmetrically hetween two plane mirrors inclined at an angle of 36°, then

how many images will be formed ?

1) 8 2) 9 3) 10 4) 11

3) XmoZ q^JmMo Zm^r¶ A§Va ho 2 ‘rQ>a d 1 ‘rQ>a Amho, Va Ë¶m q^JmMr n[aUm‘r eº$s {H$Vr Agob ?
1) 3 S>m¶m°ßQ>a 2) 1.5 S>m¶m°ßQ>a 3) 1 S>m¶m°ßQ>a 4) 0.5 S>m¶m°ßQ>a

3) The focal lengths of two lenses are 2 m and 1 m, then the total power of a combination of these

lenses is

1) 3 D 2) 1.5 D 3) 1 D 4) 0.5 D

4) Á¶m ì¶º$sMo gwñnï> Ñï>rMo bKwÎm‘ A§Va 50 cm Amho, Aem ì¶º$sÀ¶m Mîå¶mÀ¶m q^Jm§Mo Zm^r¶ A§Va {H$Vr Agob?
1) 50 cm, A§Vd©H«$ 2) 50 cm, ~{hd©H«$
3) 25 cm, A§Vd©H«$ 4) 25 cm, ~{hd©H«$

4) What focal length should the spectacles have for a person for whom the least distance of distinct

vision is 50 em ?

1) 50 cm, concave 2) 50 cm, convex

3) 25 cm, concave 4) 25 cm, convex
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5) 1 {‘‘r x 1 {‘‘rÀ¶m Mm¡agmMr Zjr Agbobo H$mS>© erQ>, S>moù¶m§À¶m AJXr Odi Agboë¶m 9 go‘r Zm^r¶ A§VamÀ¶m
~{hd©H«$ q^JmVyZ 9 go‘r A§Vamdê$Z ~{KVë¶mg, Ë¶m H$mS>© erQ>darb Mm¡ag ...... AmH$mamMo {XgVrb.
1) 10 {‘‘r x 10 {‘‘r 2) 10 {‘‘r2 3) 10 go‘r2 4) 1 {‘‘r2

5) A card sheet divided into squares, each of size 1 mm x 1 mm is being viewed at a distance of 9 cm

through a convex lens of focal length 9 cm held close to the eye. The squares on the card sheet

will be observed to be of size

1) 10 mm x 10 mm 2) 10 mm2 3) 10 cm2 4) 1 mm2

6) EH$m dñVyMr C§Mr 3 go‘r AgyZ 24 go‘r dH«$Vm {ÌÁ¶m AgUmè¶m A§Vd©H«$ AmaemnmgyZ 20 go‘r A§Vamda R>odbr Amho.
gwñnï> à{V‘m {‘idÊ¶mgmR>r AmaemnmgyZ nS>Xm {H$Vr A§Vamda Agmdm? VgoM à{V‘oMm AmH$ma {H$Vr?
 nS>ÚmMo A§Va à{V‘oMm AmH$ma
1) - 30 go‘r + 4.5 go‘r
2) - 30 go‘r - 4.5 go‘r
3) + 4.5 go‘r - 30 go‘r
4) - 4.5 go‘r + 30 go‘r

6) An object 3 cm in size is placed 20 cm in front of a concave mirror of radius of curvature 24 cm.

At what distance from the mirror should a screen be placed in order to obtain a sharp image ?

Also, what is the size of the image ?

Distance of screen Size of image

1) -30 cm + 4.5 cm

2) - 30 cm - 4.5 cm

3) + 4.5 cm - 30 cm

4) - 4.5 cm + 30 cm

7) XmoZ g‘Vb Amaem‘Ü¶o EH$ ‘m§Oa ~gbr Amho, Oa XmoZ g‘Vb Amaem‘Yrb H$moZ 30 A§e Agë¶mg, ‘§mOarÀ¶m
{H$Vr à{V‘m {XgVrb ?
1) 0 2) 1 3) 11 4) 12

7) A cat is sitting in between two plane mirrors. If the angle between two plane mirrors is 30 degrees,

how many images of the cat will appear?

1) 0 2) 1 3) 11 4) 12

8) ¶mXrVrb Imbrb CnH$aUm§‘Ü¶o Amaeo d q^J dmnabo OmVmV. Ë¶mZwgma Ë¶m§Mo dJuH$aU H$am.
i) hoS>bmBQ²>g ii) XÿaXeu
iii) g§¶wº$ gyú‘Xeu iv) àmoOo³eZ b°ån
v) âbS>bmBQ²>g vi) gmYm gyú‘Xeu

 Amaeo        q^J
1) (i), (iv), (v) (ii), (iii), (vi)

2) (iii), (iv), (ii) (i), (vi), (v)

3) (i), (ii), (vi) (iii), (iv), (v)

4) (ii), (iii), (vi) (i), (iv), (v)
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8) In the list of the following instruments, mirrors and lenses are used. Classify them accordingly.

i) Headlights ii) Telescopes

iii) Compound microscopes iv) Projection lamps

v) Floodlights vi) Simple micmscopes

Mirrors  Lenses

1) (i), (iv), (v) (ii), (iii), (vi)

2) (iii), (iv), (ii) (i), (vi), (v)

3) (i), (ii), (vi) (iii), (iv), (v)

4) (ii), (iii), (vi) (i), (iv), (v)

9) Mîå¶m§Mo q^J ........ ¶mnmgyZ ~ZdVmV.
1) nm¶ao³g H$mM 2) pâc¨Q> H$mM 3) gm‘mÝ¶ H$mM 4) H$mo~mëQ> H$mM

9) Lenses of spectacles are made of ........

1) Pyrex glass 2)  Flint glass 3)  Ordinary glass 4)  Cobalt glass

10) é½UmÀ`m XmVm§Mo narjU d CnMma H$aÊ`mgmR>r X§Vd¡ÚH$ H$moUË`m AmaemMm Cn`moJ H$aVmV?
1) A§Vd©H«$ 2) ~{hd©H«$ 3) g_Vcr-A§Vd©H«$ 4) g_Vcr-~{hd©H«$

10) Dentist uses a ...... mirror for examination and treatment of the teeth of the patient :

1) concave 2) convex 3) Plano-concave 4) Plano-convex

11) Xþ{~©Urgma»¶m àH$mer¶ CnH$aUmVrc joÌq^J d ZoÌq^J ¶m§À¶m OmoS>UrVyZ H$m¶ AmH$maVo?
1) dñVyq^J 2) g§¶wº$ ZoÌq^J 3) {demcH$ 4) darcn¡H$s EH$hr Zmhr

11) In an optical instrument like telescope, the combination of field lens and eye lens forms

1) an objective 2) compound eye-piece 3) magnifier 4) None of the above

12) ’«o$gZëg ~m¶m{àP‘‘Ü¶o (λ) Va§Jbm§~rMr qH$‘V H$emda Adb§~yZ AgVo?
1) XmoZ g§b¾ CJ‘ñWmZmVrb A§Va 2) q’$OMr é§Xr
3) pñbQ> d XÿaXe©H$mMr ZoÌH$mM ¶mVrb A§Va 4) darb gd©

12) In Fresnel's Biprism, the value of wavelength (λ) depends upon

1) The distance between two coherent sources

2) The fringe-width

3) The distance between slit and eyepiece of telescope

4) All of the above

13) à{V‘oMo dU©Z d dmMZ H$aÊ¶mgmR>r nwT>rbn¡H$s H$moUVm KQ>H$ dmnabm OmV Zmhr?
A) H$bXe©H$ H|$Ð ~) dU©N>Q>m H$) N>m¶m S>) AmH$ma
n¶m©¶r CÎmao …
1) ’$º$ A 2) A Am{U ~ 3) ’$º$ ~ 4) H$ Am{U S>

13) Which of the following factor is not used to describe and read image?

A) Focus of tilt B) Tone C) Shadow D) Shape

Answer options :

1) Only A 2) A and B 3) Only B 4) C and D
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14) ‘moR>çm A§Vamdarb dñVy nmhVmZm S>moù`mMr boÝg gnmQ> hmoVo Am{U Ë`mMr ’$moH$b bm§~r ......, OdiÀ`m dñVy nmhVmZm
boÝg A{YH$ JmobmH$ma hmoVo Am{U Ë`mMr ’$moH$b bm§~r ......
1) KQ>Vo, dmT>Vo 2) dmT>Vo, H$‘r hmoVo
3) KQ>Vo, pñWa amhVo 4) pñWa amhVo, dmT>Vo

14) While seeing objects at large distances, the lens of the eye becomes flat and its focal length ......,

while seeing nearby objects the lens becomes more rounded and its focal length ......

1) decreases, increases 2) increases, decreases

3) decreases, remains constant 4) remains constant, increases

15) ë¶ydoZhÿH$Zo H$m¶ Ho$co ?
1) ~ma³¶m {H$S>çm§nmgyZ AÞgmR>m ~Zdcm
2) àM{cV g‘mOì¶dñWocm nmR>~i {Xco.
3) CËñ’y$V© OZZmMm {gÕm§V ‘m§S>cm
4) { §̂JmMr j‘Vm dmTdyZ gyú‘ {H$S>çm§Mo {ZarjU Ho$co.

15) What did Leeuwenhoek do ?

1) He created a focd reserve out of small microbes

2) He supported the established social system

3) He proposed the theory of arbitrary creation

4) He sharpened the lens and observed small microbes

16) doëS>aÛmao dmnaë`m OmUmè`m Img {S>PmBZ Ho$boë`m Mîå`m§Zm ............ åhUVmV:
1) amgm`{ZH$ g§ajU Jm°Jëg 2) hm¶ B§n°³Q> Jm°Jëg
3) hdm àXyfU{damoYr Mî‘m 4) H$mo~mëQ> ãby boÝggmaIo N>m`m§{H$V Mî‘m

16) Specially designed glasses that are used by a welder are called:

1) chemical protection goggles 2) high impact goggles

3) anti contamination glasses 4) shaded glasses like cobalt blue lenses

17) ...... Mm dmna gm‘mÝ¶V… dmhZmMm ‘mJrb Ñî¶ nmhÊ¶mgmR>r Ho$bm OmVmo.
1) g‘dVb Xn©U 2) g‘Vb Xn©U 3) AdVb Xn©U 4) CÎmb Xn©U

17) ...... are commonly used as rear view mirrors in vehicles.

1)  Planoconvex mirror 2)  Plane mirror

3)  Concave mirror 4)  Convex mirror

18) A§Vd©H«$ AmaemÀ¶m {H$aUmH¥$Vr H$mT>Ê¶mgmR>r dmnaë¶m OmUmè¶m {Z¶‘m§Zwgma Imbrbn¡H$s H$moUVo {dYmZ gË¶ Amho?
A) Oa AmnmVr {H$aU ‘w»¶ Ajmbm g‘m§Va Agob Va namd{V©V {H$aU ‘w»¶ Zm^rVyZ OmVmV.
B) Oa AmnmVr {H$aU ‘w»¶ Zm^rVyZ OmV Agob Va namd{V©V {H$aU ‘w»¶ Ajmbm g‘m§Va AgVmV.
¶mo½¶ n¶m©¶ {ZdS>m …
1) {dYmZ (A) Am{U (B) XmoÝhrhr gË¶ AmhoV. 2) {dYmZ (A) gË¶ AgyZ (B) AgË¶ Amho.
3) {dYmZ (A) AgË¶ AgyZ (B) gË¶ Amho. 4) {dYmZo (A) d (B) XmoÝhrhr AgË¶ AmhoV.
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18) Which of the following statement is correct according to the laws of reflections for drawing ray

diagrams of a concave mirror ?

A)If the incident ray is parallel to the principal axis then the reflected ray passes through the

focus.

B)If the incident ray is passing through the focus then the reflected ray is parallel to the principal

axis.

Select the correct options :

1) Statment (A) and (B) both are correct.

2) Statement (A) is correct and (B) is wrong.

3) Statement (A) is wrong and (B) is correct.

4) Statement (A) and (b) both are wrong.

5) Ñï>rXmof d d¡få¶
1) gwñnï> Ñï>rMo bKwÎm‘ A§Va 50 go‘r AgUmè¶m ì¶º$sÀ¶m Mîå¶mMr Zm^r¶ eº$s {H$Vr Agmdr?

1) 0.02 S>m¶m°ßQ>a 2) 0.2 S>m¶m°ßQ>a 3) 2 S>m¶m°ßQ>a 4) 20 S>m¶m°ßQ>a
1) What focal power should the reading spectacles have for a person for whom the least distance of

distinct vision is 50 cm ?

1) 0.02 Dioptre 2) 0.2 Dioptre 3) 2 Dioptre 4) 20 Dioptre

2) ‘mUgmMm gm‘mÝ¶ S>moim 25 go‘r nojm OdiÀ¶m dñVy nmhÿ eH$V Zmhr H$maU :
1) S>moù¶mV Zm^r¶ A§Va 25 go‘r Amho.
2) Ñ{ï>nQ>bmMo ZoÌq^JmnmgyZMo A§Va 25 go‘r Amho.
3) S>moim hm ZoÌq^J d Ñ{ï>nQ>b ¶mVrb A§Va ‘¶m©Xonojm H$‘r H$ê$ eH$V Zmhr.
4) S>moim hm Zm^r¶ A§Va ‘¶m©Xonojm H$‘r H$ê$ eH$V Zmhr.

2) A normal eye is not able to see objects closer than 25 cm because :

1) the focal length of the eye is 25 cm.

2) the distance of the retina from the eye-lens is 25 cm.

3) the eye is not able to decrease the distance between the eye-lens and the retina beyond

limit.

4) the eye is not able to decrease the focal length beyond a limit.

3) EImXm ì¶º$s 2.0 ‘r. nojm bm§~ A§Vamdarb dñVy ñnï>nUo nmhÿ eH$V Zmhr, Ë¶m dñVy ñnï> {XgÊ¶mH$[aVm q^JmMr eº$s
(nm°da) {H$Vr Agmdr?
1) + 2.0 diopters 2) - 1.0 diopters 3) + 1.0 diopters 4) - 0.5 diopters

3) A person cannot see objects clearly beyond 2.0 m. The power of lens required to correct his

vision will be :

1) + 2.0 diopters 2) - 1.0 diopters 3) + 1.0 diopters 4) - 0.5 diopters

4) à{V‘oMo dU©Z d dmMZ H$aÊ¶mgmR>r nwT>rbn¡H$s H$moUVm KQ>H$ dmnabm OmV Zmhr?
A) H$bXe©H$ H|$Ð ~) dU©N>Q>m H$) N>m¶m S>) AmH$ma
n¶m©¶r CÎmao …
1) ’$º$ A 2) A Am{U ~ 3) ’$º$ ~ 4) H$ Am{U S>
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4) Which of the following factor is not used to describe and read image?

A) Focus of tilt B) Tone C) Shadow D) Shape

Answer options :

1) Only A 2) A and B 3) Only B 4) C and D

5) '‘m¶monr¶m' hm 'bKwÑï>rXmof' AgyZ Vmo ¶m H$maUm‘wio hmoVmo...
1) dñVyMr à{V‘m Ñï>rnQ>bmÀ¶m nwT>o V¶ma hmoVo, nU Ñï>rnQ>bmda ZgVo.
2) dñVyMr à{V‘m Ñï>rnQ>bmÀ¶m ‘mJo nS>Vo.
3) dñVyMr à{V‘m Ñï>rnQ>bmda nS>Vo.
4) darbn¡H$s Zmhr.

5) Myopia is an eye defect known as ‘near-sightedness’, and is caused due to the reason that ....

1) the image of an object is formed infront of the retina and not on the retina.

2) the image of an object is formed beyond the retina.

3) the image of an object is formed exactly on the retina.

4) None of the above.

6) ‘moR>çm A§Vamdarb dñVy nmhVmZm S>moù`mMr boÝg gnmQ> hmoVo Am{U Ë`mMr ’$moH$b bm§~r ......, OdiÀ`m dñVy nmhVmZm
boÝg A{YH$ JmobmH$ma hmoVo Am{U Ë`mMr ’$moH$b bm§~r ......
1) KQ>Vo, dmT>Vo 2) dmT>Vo, H$‘r hmoVo
3) KQ>Vo, pñWa amhVo 4) pñWa amhVo, dmT>Vo

6) While seeing objects at large distances, the lens of the eye becomes flat and its focal length ......,

while seeing nearby objects the lens becomes more rounded and its focal length ......

1) decreases, increases 2) increases, decreases

3) decreases, remains constant 4) remains constant, increases

7) ‘mZdr S>moù¶mÀ¶m ~mhþcrMm nmaXe©H$ nS>Xm ì¶dpñWV JmocmH$ma Zgë¶mg CX²̂ dUmè¶m Xmofmcm ............ åhUVmV.
1) A°ñQ>r½‘mQ>rP‘ 2) hm¶na‘oQ´>mo{n¶m 3) hm¶nmo‘oQ´>mo{n¶m 4) àog~m¶mo{n¶m

7) The defect when cornea of human eye is not in spherical shape is called

1) Astigmatism 2) Hypermetropia 3) Hypometropia 4) Presbyopia

8) Imbrbn¡H$s H$moUVo {dYmZo ~amo~a AmhoV ?
A) XÿaÑï>rXmof hm ~{hd©H«$ q^J dmnê$Z Xÿa H$aVm ¶oVmo ~) bKyÑï>rXmof hm ~{hd©H«$ q^J dmnê$Z Xÿa H$aVm ¶oVmo.
H$) XÿaÑï>rXmof hm Am§VadH«$ q^J dmnê$Z Xÿa H$aVm ¶oVmo. S>) bKyÑï>rXmof hm Am§VadH«$ q^J dmnê$Z Xÿa H$aVm ¶oVmo.
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ ~amo~a AmhoV 2) ’$º$ ~ Am{U H$ ~amo~a AmhoV
3) ’$º$ H$ Am{U S> ~amo~a AmhoV 4) ’$º$ A Am{U S> ~amo~a AmhoV

8) Which of the following sentences are correct?

a) Long sightedness is corrected by convex lens.

b) Short sightedness is corrected by convex lens.

c) Long sightedness is corrected by concave lens.

d) Short sightedness is corrected by concave lens.

Answer Options :

1) Only a and b are correct 2) Only b and c are correct

3) Only c and d are correct 4) Only a and d are correct
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9) S>moù¶m§Mr d H°$‘oè¶mMr aMZm ¶mV gmå¶ AgVo. ¶m g§X^m©V nwT>rc XmoZ {dYmZo nhm.
a) ~w~wimVrc ~mhþcr q^JmMo {N>Ð d PS>noMo H$m¶© H$aVo.
b) q^JmMo ñZm¶y ({gcrAar ñZm¶y) A§Va ~XcÊ¶mMr ì¶dñWm nhmVo.
n¶m©¶r CÎmao …
1) Hoo$di (a) ¶mo½¶ 2) Ho$di (b) ¶mo½¶ 3) (a) d (b) XmoÝhr ¶mo½¶ 4) (a) d (b) XmoÝhr A¶mo½¶

9) Construction of an eye is similar to that of a camera. In this respect consider the following

statements.

a) Iris functions as Lens aperture and shutter

b) Ciliary muscle is the focussing arrangement

Answer Options :

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) Neither (a) nor (b) is correct

10) _m`mo{n`m Ñ{ï>Xmof Agcoë`m ì`º$sg ...... dñVy ñnï> {XgV Zmhr.
1) H$_r A§Vamdarc 2) Xya A§Vamdarc 3) {S> {S> ìhr A§Vamdarc 4) darcn¡H$s Hw$R>cohr Zmhr

10) A person suffering from Myopia is unable to observe clearly the objects at ......

1) short distance 2) long distance

3) distance of distinct vision 4) none of the above

11) '‘m¶monr¶m' hm 'bKwÑï>rXmof' AgyZ Vmo ¶m H$maUm‘wio hmoVmo...
1) dñVyMr à{V‘m Ñï>rnQ>bmÀ¶m nwT>o V¶ma hmoVo, nU Ñï>rnQ>bmda ZgVo.
2) dñVyMr à{V‘m Ñï>rnQ>bmÀ¶m ‘mJo nS>Vo.
3) dñVyMr à{V‘m Ñï>rnQ>bmda nS>Vo.
4) darbn¡H$s Zmhr.

11) Myopia is an eye defect known as ‘near-sightedness’, and is caused due to the reason that ....

1) the image of an object is formed infront of the retina and not on the retina.

2) the image of an object is formed beyond the retina.

3) the image of an object is formed exactly on the retina.

4) None of the above.

12) Aq~XwH$Vm' hm Ñ{ï>Xmof H$moUË`m q^JmZo Zmhrgm H$aVm òVmo ?
1) {MËH¥$Vr q^J 2) A§VJm}c q^J 3) ~{hJm}c q^J 4) {ÛZm{^H$ q^J

12) Which one of the following lenses should be used to correct the defect of 'astigmatism'?

1) Cylindrical lens 2) Concave lens 3) Convex lens 4) Bifocal lens

13) EH$m ì¶º$sÀ¶m S>mì¶m S>moù¶mV bKwÑï>rVm d COì¶m S>moù¶mV XÿaÑï>rVm Xmof AmhoV. Ë¶mÀ¶m Mîå¶mMo COdo d S>mdo q^J
AZwH«$‘o ...... d ...... Agm¶bm hdoV.
1) ~{hd©H«$, {ÛZm^r¶ 2) A§Vd©H«$, {ÛZm^r¶
2) A§Vd©H«$, ~{hd©H«$ 4) ~{hd©H«$, A§Vd©H«$

13) A person whose left eye is myopic and right eye is hypermetropic, his spectacles should have

right and left lenses to be ...... and ...... respectively.

1) convex, bifocal 2) concave, bifocal

3) concave, convex 4) convex, concave
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CÎmao … (5) àH$me bhar

1) àH$memMo ñdén Am{U d¡{eîQ>ço
1-1 2-4 3-4 4-3 5-2 6-4 7-4

2) àH$memMm òmoV - àH$me dU©nQ
1-2 2-4 3-4 4-2 5-4 6-2 7-4 8-1 9-1 10-2
11-4 12-3 13-3 14-4 15-4 16-2 17-3 18-3 19-1 20-2

3) àH$memMo  JwUY‘©
1-3 2-2 3-3 4-4 5-2 6-3 7-1 8-4 9-2 10-2
11-1 12-3 13-2 14-1 15-1 16-2 17-3 18-3 19-1

4) àH$meH$s¶ CnH$aUo - à{V‘m, Amago, q^Jo
1-2 2-2 3-2 4-2 5-1 6-2 7-3 8-1 9-2 10-1
11-2 12-4 13-1 14-2 15-4 16-4 17-4 18-1

5) Ñï>rXmof d d¡få¶
1-3 2-4 3-4 4-1 5-1 6-2 7-1 8-4 9-3 10-2
11-1 12-1 13-x


